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K % H51 BE | FERHE FRIEML| RBO  RBQ | RBO | REBIEM
FLENSE S = EE 11,700 1 K & x 1
L bEX % @[ | 10600 2 K K x 2
BHEEF & X 5,200 3 K K x 3
ki EX % iT]=] 5,100 4 K K x 4
RS % N 4,600 5
Bk BA% & 12 4,500 6
i EE = deimiE | 3.900 7
BX 5H % EE 3,300 8
R FLF =z B 3,200 9
R ZYG % RIE 3,000 10
FH EF % & 2,800 1
b:71II=T3d % RIE 2,700 12
RH #FHF % f]a} 2,700 12
alE #F % f]a} 2,600 14
HLE phy = & 2,100 15
KM =iEF % EE 1,800 16
T XF % RIG 1,800 16
& EF = /= 1,400 18
A Wi % KBR 700 19
X EF % & 300 20
WL =F % N 200 21




